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PART -1

Science

1. The power of concave lens is-

A. Positive
B. Negative
C. Both
D. Zero

Consider two Statement (A) & (B)
given below-

Statement (a) : Virtual image 1s
always erect.

Statement (b) : Real image 1s always
inverted.

A. Only Statement a is true

B. Only Statement b i1s true

C. Both Statement a & b are true
D

. Both Statement a & b are not true

The name of the instrument for
measuring potential difference-

A. Ammeter

B. Galvanometer
C. Potentiometer
D

. Voltmeter

ST AT I T BT B-

o0 ® »
i/

r T2 TRF =1 el (A) A (B) T o=
-

FIT (a) : STHTET TToiars Ted drar 2T
H

FT (b) : FTEATIR T cltePal T oF Jeal erdl
H

o T (a) TR ©
T T (b) TET &

F (a) FIC (b) THTHE T
FT (a) T (b) FHT TEN T8N

TP aT=aT AT FTeT ITehL0T T A1 2-
1T

e IHTeT

ERELIL

o n = »

c n w »
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4. Which of the following materials 1s a 4. FTARgd o ¥ & o7 e U aT=ar

good nsulator? W%q
A, Aluminium A Q?{Eﬁﬁ'ﬂ"?
B. Copper & )
e B. &AL
C. Glass .
D. Silver G ol
5. If the diameter of a resistance wire is 5. T TRl OTeier a7 s SATH ST L Toar
halved then its resistance becomes- S AT FHehT YT 8 SaT 8-

A. Four times

A. ST
B. Two times 5
C. Half B. ST
D. One fourth Aot Il
D. UsH=Ts
6. The unit of electric charge is- 6. T ST Al 39S €-
A, Ampere A. UEYFT
B. Coulomb B. W
C. Joule C. 5
D. Volt i
D. dle
7. 'Which of the following is used to 7. FTaNad = W R ST UfEERT
make periscope? & o feTT glar 2-
A. Planoconvex lens A TOAEEE ST
B. Convex mirror o 3t
C. Concave mirror
D. Plane mirror C. o <im
D. GHTe 2907

SPACE FOR ROUGH WORK / & &Ta & forar 7me
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8. Match the following: 8. gt are-

Group —1  Group —11 TE -1 |
(a) Current (I) Ampere (a) =T M ESE S
(b) WVoltage (IT) Ohm 2 ¥os e
(c) Resistance (III) Volt (®) = (1)
(d) Power (TV) Watt (c) e (n) ez
A. a-II, b-IIL, ¢-TV, d-1 (d) D (Iv) =re
B. a-l, b-II1, c-11, d-IV A. a-1l, b-111, ¢c-1V, d-1
C. a-1V, b-II1, ¢-1I1, d-1 B. a-l, b-III, ¢-II, d-IV
D. a-1, b-IV, ¢-II1, d-11 C. a1V, b-I1I, ¢-1I1, d-1
D. a-1, b-1V, c-III, d-11
9. The frequency of domestic alternating 9. Eﬁ?ﬁ[\ﬂﬂ ChIRG g q TR &-
current is- A Eﬂﬂéﬁ
A. 50Hz .
. 60
B. 60 Hz B B
C. 110 Hz C. 10T
D. 220 Hz D. 2208

SPACE FOR ROUGH WORK / & &Ta & ferar @me
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10. Match the following- 10.

Group -1
(a) Dentist
(b) Magnified Image
(c) Rearview mirror for vehicles
{d) Perniscope
Group - 11
(I} Concave / plane mirror
(ITY Concave mirror
(IIT) Convex mirror
(I'V) Plane mirror

A a-1, b0, -0, d-1V
B. a-1, b-II, ¢-1V, d-111
C. a-1L b-III, c-1. d-1V
D. a-II, b-IIL, c-1V, d-1

11. An electrical resistivity of a given 11.

substance wire depends upon-
A. Length

B. Thickness
C. Shape
D

. Nature of substance

T e shlTofl-

*J

(a)
(b)
(c)
(d)

(1)
(1)

a8 -1
= e
ST widfers
e o T 797 240
KlEe=ak)

11
FTEAE T

(1) e =90
(TV) e =y

A.

B
.
D

a-1, b-1I, c-III, d-IV

. a-I, b-11, c-IV, d-III

a-1I, b-III, c-I, d-IV

. a-IL b-III, ¢-IV, d-1

el o T et & T e
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12. Which unit could be used to measure 12.

current?
A. Ampere
B. Coulomb
C. Volt
D. Ohm

13. Which lens is thinner at the centre? 13.

A. Plane lens

B. Concave lens
C. Convex lens
D

. Plane convex lens

T ol AT9 ok TeAT i | SR8 ST
ekt STTaT 89

7
B.
.
D.

UL
el
Tee
&)

I HT A 3 T2 5 T giar 27

A.
B
(o
D. Gadarde oy

gqTd A

. AFad wE

IS T
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14. Directions - For the below Assertion

15.

({A) and Reason (R) choose the correct
alternative.

Assertion (A) : Colloidal particles do
not show Tyndall effect.

Reason (R) : Colloidal solutions are
stable and the colloidal particles do
not settle down.

A. Both Assertion (A) and Reason
(R) are true and Reason (R) is the
correct explanation of Assertion
(A).

B. Both Assertion (A) and Reason
(R) are true but Reason (R) is not
the correct explanation of
Assertion (A).

C. Assertion (A) is true but Reason
(R) Reason 1s false.

D. Assertion (A)1s false and Reason
(R) Reason 1s true.

What 1s the ratio by atomic mass of
sulphur and oxygen in SO, ?

A 1:
B. 1:2
. 24
D. 1:4

14. fewniaeyr - = fer e s (A) SR

15.

(R) T HE e ={--

T (A) : FIATSSA FUTSSA TATS Fl

EENGECEEGE

T (R) : Fiese faraad BaT g & aur

T3S HoT LT Bl o

A. & (A) T HIT(R) =TTl & #71T
LT (R), FUT (A) I TeT =HE=AT
LT B

B. T (A) T H (R) &M HE & e
T (R), T2 (A ) =T TET =T 8T
LT B

C. T (A) WET €, Tehed T (R) Terd
2|

D. & (A) Ted 8, feheg 0T (R) e
2l

SO, T T HIT ARV I T
ZEHI Rl ST o7 €7

A, I
B. 1:2
L. 2
D. 1:4
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16. Directions - For the below Assertion 16. fewmi=sr - fi= few T e (A) ST SR

(A) and Reason (R) choose the correct [R]aﬁrgﬁ’rﬁaﬁq?ﬁ_
—— TR (A) : LT BT TR AT 16 2
Assertion (A) : Molecular weight of ]
oxygen is 16. T (R) : SATHRI T T THTI] 41X 16 &
Reasun (R) : Atomic weight of oxygen A. T (A) T HET (R) FHTTE 2 79T
t:16; T (R), T (A) 3T TET T
A. Both Assertion (A) and Reason AT 2|

(R) are correct and Reason is the

correct explanation of Assertion B. & (A) T 1A (R) ST A Ir:%rgJ

(A). I (R), 4T (A) =l TET =TT 8T
B. Both Assertion (A) and Reason HAT 2

R) are correct but Reason is not

:he] correct explanation of C. T (A) T E m"g: I (R) T €]

Assertion (A). D. & (A) T %I?hrg CRER (R)FIE‘T%I

C. Assertion (A)is correct but
Reason (R) is incorrect.

D. Assertion (A) 1s incorrect but
Reason (R) 1s correct.

SPACE FOR ROUGH WORK / & &Ta & ferer 7me
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17. Directions - For the below Assertion 17. fewmiesr - fi= fer T e (A) ST SR

(A) and Reason (R) choose the correct [R]aﬁrgﬁ’rﬁaﬁq?ﬁ_
alternative. :

, o FT (A) : Teh T I H 2ae F97eh
Assertion (A) : A solution of table salt i ke
in a glass of water 1s homogeneous. TR |
Reason (R) : A solution having LT (R) : TT Torer il Gt .-
different composition through out 1s o= B, T8 HeTrel e 8 gl

h{}lﬂ(}gﬁ NEOLS.

, A. T (A) T HE(R) ST T & 37
A. Both Assertion (A) and Reason

(R) are true and Reason (R) 1s the ) (R), (A) T TeT

correct explanation of Assertion gl

(A). B. & (A) TS AT (R) 24T T &
B. Both Assertion (A) and Reason ﬂ;i,,rg ST (R), F9 (A) &7 &

(R) are true but Reason (R) 1s not e %]

the correct explanation of

Assertion (A). C. T (A) WET €, Teohed T (R) TeTd
C. Assertion (A)is true, but Reason 2|

(R) 1s false.

D. Assertion (A) is false, but Reason

D. & (A) Ted &, febheg 0T (R) HEr

(R) 1s true. 6l
18. Which of the following atoms are 18. ﬁﬂﬁ%ﬁﬁ{ﬁﬁqmmﬁ g

1sobars? TR &7
A 12, 14

ﬁC and ﬁC A l{;_’c aﬁ—( 1:C
B. 4. 40 —

6{: and IEF\I B. bc ST ?;}Ar
C. 40, 4D

(g Ar and 5 Ca C. ?;}Ar A ;H(’ja
D 6. 12

;L1 and C D. 2Li AT 12

SPACE FOR ROUGH WORK / & &Ta & ferdr @me
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19. Which radioactive element is used in 19. Figd eradf T s ST RS

the treatment of Cancers? YL TRt =1reT 89
A. lodine-131 A RT3
B. Uranium-234
B -234
C. Plutonium-239 :
D. Cobalt-60 C. w239
D. HiaTez-60
20. Blood and sea water are- 20. T AR Wﬂﬁf A E-
A. Mixtures A [T
B. Compound B, T
. Blood 1s a mixture whereas. sea i
water 1s a4 compound C. ﬁﬁ%_%wg FEEILLL
D. Blood 1s a compound whereas, sea 8
water is a mixture D. ﬁﬁ@?ﬁm%ﬁaﬁ?qﬂﬁw%
P 2|
21. Isotopes of an element have- 21. ot T o gEET e Bl B
A. the same physical properties A, OO 9T T
*d
B. different chemical properties T T
C. different number of neut Bk -
. different number of neutrons )
C. =M &I T R g
D. different atomic numbers
D. T T2y sh iy

SPACE FOR ROUGH WORK / & &Ta & ferer @me
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22. Directions - For the below Assertion

{A) and Reason (R) choose the correct

alternative.

Assertion (A) : Atomic mass of
aluminium 1s 27.
Reason (R) : An atom of Aluminium

th

1s 27 times heavier than e of the

il

mass of carbon-12 atom.

A.

D.

Both Assertion (A) and Reason
(R) are correct and Reason (R) is
the correct explanation of
Assertion (A).

Both Assertion (A) and Reason
(R) are correct but Reason (R) 1s
not the correct explanation of
Assertion (A).

Assertion (A) is correct but
Reason (R) 1s incorrect.

Assertion (A) 1s incorrect but
Reason (R) 1s correct.

23. The most remarkable concept that

Dalton’s atomic theory proposed was

that of the-

A.

Atomic weight

B. Atomic mass
C.
D. Atomicity

Molar mass

22. fagnferder - = FRu s (A) ST

(R) T WE e ={--
FT (A) : T ol T Z=
27 8|

LT (R) : U HTFT T Ty TLTO] shaiT
th

.12 wu_ga\‘ﬂcewriﬁh‘% 27 T

I gl

A. T (A) T B (R) ZHTAET E T=IT

BRI (R), 9 (A ) 3 TET SATEAT
LT 2

B. @ (A) T HIAM (R) 2T Tel & e
FILT (R), FAT (A ) Tl TeT AT T T
LT 2

C. T (A) WET € fohed ST (R) TeT €

D. T (A) TEd € fehe LT (R) HET 8

23. Zree & LT e g SEde e
Feog T AT -

. TIHTTEE 91T
[
THTTU R S HH

wJ

O 0w »

SPACE FOR ROUGH WORK / & &Ta & ferar 7me
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24. Which of the following substances 1s
not homogeneous in natures.

A.

25. Which of the following property does

Tce

B. Cup of Coffee
5
D. Air

Soil

not describe a compound?

A.

B.

It 1s composed of two or more
elements.

It 15 a pure substance.

It can’t be separated into
constituents by physical means.

. It 1s mixed in any proportion by

madss.

26. Select the incorrect statement about
colloids from the following options.

Al
B.

Colloids are homogenous.

Colloids can scatter a beam of
light passing through it.

Colloids show Tyndall effect.

Collods are quite stable.

24. [HTARETH W = 97 9ar Uehid o
T A8l 82

&t

. hIHI T HT

Ferer

T

25. =8 @ i | feht At & s
el 8T 8e

A, TEEITE Y AT a= O e 1T
giar 2l

S 0w p

B. 78 TH s v B

C. 38 i aifen § g2kl 5 T
TET ToRaT =TT e 2

D. 59 Z=5H o Tewrrar & fere ot svgqare
T e =T g

26. FTARET oehed § o hiaEay o aw o
AT T T =T hlTT0]

A. HIERE YHET B B

B. HIeTegd T U T STedl Fhrer
TR T TR U1 L HehelT 2

C. FIAEEH fdead THE Jarid i ¢
D. #iemsed L e g

SPACE FOR ROUGH WORK / & &Ta & ferar 7me
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27. Light of wave lengths 5500 "A falls on

a plane reflecting surface. The
reflected wave lengths 1s-

27.

5500 °A FUTE ITAT TeRI9T Ueh T T

qEtdd Odg 9L STIad shdt &) Tuetdd

A. 5500 °A
A. 5500 °A
B. <5500°A
B. <353500°A
C. > 5500°A
D. C v C. > 5500°A
. Lannot say anything
RN D. %& FETTel = qehal
28. Match the following- 28. ﬁ":!ﬁiﬁﬁﬂ'@%ﬂﬁ ST~
Column -1 Column —11 ot TET—11
{a) SI un?t f.}i:pc}wer (I} Joule () A ST TTS (1) 9
(b) SI unit of (IT) Watt - £ : o
electric current i B G, e
(c) SIunit of energy (II) Ampere (c) Tl =hl SI5hTY (L) TfFT=
Select correct answer from given ﬁqﬁﬁﬂﬁﬁt?ﬂ T
below-
A. a1, b-TI, c-I11
A. a-1, b-II, c-1II
B. a-IlI. b-II1, c-1
B. a-II. b-III, c-I
C. a-II, b-1, ¢-I11
C. a-IL, b-1, c-1II
D. a-II. b-1, c-II
D. a-III, b-1, ¢c-11
SPACE FOR ROUGH WORK / 7% &4 & ferd wmrg
20462-XNY-ZVV-ENT-M2 38 SetA



29. Match comectly Column - I and IL

(a)
(b)
(c)

(p)

(q)
(r)

CnNnwp

Column -1
Reflection
Refraction
Total internal reflection
Column - IT
_sini
sinr
Mirage
Change in path of light without
change in medium.
a-p, b-q, c-r
a-q. b-p, c-r
a-t, b-p, c-q

a-r, b-q. c-p

The final image formed in an

astronomical telescope with respect to
the object 1s-

A.

B
C.
D

real. inverted

. real, erect

virtual, erect

. wvirtual, inverted

29. FHrEH - 19 11 H Hel Has-
FAT - 1

T

I

U7 AT T
HET - 11

(a)
(b)
(c)

sin1
Y e
sinr

BIEECa

T § R
a-p, b-q, c-r
a-q, b-p, c-r
. a-r, b-p,cq

O N w

. ar,b-q,cp

S I qerT | el o-
A. FTEdTE, e
B. STEdies, T
C. &TedieR, Hrar
D. FreiHeh, Iel

ToAT AT 9P & TRl &

SPACE FOR ROUGH WORK / & &Ta & e 7me
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31.

32.

33.

A Copper wire 15 stretched to make 1t 31.

0.5% longer. The percentage change
1n 1ts electric resistance, if 1ts volume
remains unchanged 1s-

A. 2.0%
B. 2.5%
C. 1.0%
D. 0.5%

To correct short sightedness the 32.

person has to use spectacles with-
A. Concave lens

B. Convex lens

. Planoconvex lens

D. None of above

In given circuit 33.

50 1002 1501

rm—w—w—

0V
_|_

Potential difference across 5.

A. 5V
B. 15V
C. 10V
D. 6V

Ueh TR TE o 1L Sl WiFHL 0.5% Tl R

ST | (e T R AT ATHEdd 80
Bt 3uh e Wi o B AT g

(e =) BT
2.0%
2.5%
1.0%
. 0.5%

e I = T & FeaTeor S ATeHT & = o

A, A o

B. Idawq

C. gHie od

D. IWHH H1E T

o0 w p

50 10£2 1562

3(}V-|—
BT IRTr o 50 T EHaEat 8-

A. 5V
B. 15V
C. 10V
D. 6V

SPACE FOR ROUGH WORK / & &Ta & ferar @me
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A5,

“A_/._@E
ED» [ =

Three bulbs A, B and C are connected
as shown in fig. Change occur in
brightness of the bulbs when the
switch “S” 15 closed-

A. Brightness of A increases, but that
of C decreases

B. Brightness of A remains the same
but that of C decreases

C. Bnghtness of both A and C
decreases

D. Brightness of A increases but that
of C remains the same

The cause of induced emf 1s-

A. Magnetic flux

B. Magnetic field

C. Area

D

. Change in magnetic flux

A small ink dot on a paper is seen
through a glass slab of thickness 4 cm
and refractive index 1.5. The dot
appears to be raised by-

A. lcm
B. 2cm
C. 3cm
D. 1.33cm

a5,

—
ED A [ =

die St A, B T C ol Fes@re sfrer mm
| T * S ol T i T e
fterar & fadd gim-

A. A diterar srerft, 7o ¢ i st

B. A T disrdr vgd FerdH] @ﬂ%g CH&Hr

C. AT CEETHT draar gt

D. A T dierar s, 7o C =l T8l
ELEIRG

S Tore[eT STaeh aIet T HTT Bl €

A, TrERe Ty

B. TERhg &

C. &ahe

D. SFeRhlY e 5 T

O T T Uk @1 TATEl o Toeg i 4 THT

HIST 1.5 STTac1eh Ted TATE o T2k g
T SATAT 8| o8 SR 33T Tl e o-

A. 13T

B. 2ot
C. 3oHr
D. 1.23THr

SPACE FOR ROUGH WORK / 7% &Ta & ferar 7me
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37. The value of angle of dip at magnetic 37. *@L@M;\I*-I HEE] @)L@ldfr:\le-l A @A

poles and at magnetic equator are- 0T ST JIT BT 8
akidied A. 90°, 90°
B. 9{}&- {}u B. g{}o? {}D
C. 0,0 C. 0°,90°
D. 0% 0° D. (°. 0°
38. Which of the following 1s weakly 38. ﬁﬂ]}rﬁﬁﬁﬂ@ﬁq & I W
repelled by a magnetic field? gfteRida gt &7
A, Tron A, &er
B. Cobalt
B. &iaee
C. Steel
D. Copper G
D. &M

39. Image of an object in a concave mirror 39. sferde st Rt L T BIIE = e

15=

A. Always real

B.
C.
D.

Always virtual
Always erect

Real or virtual depending on
position of object

o

LRI CED
FHI T
ZHT T

FATEA ofe AT ST (e =11 o ehr et
T AT

o N w »
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40. Six equal resistances are connected
between points P, Q and R as shown
in fig.

Then the net resistance will be
maximum between-

A.

B
C.
D

Pand Q

. Qand R

Pand R

. Same inPand Q, Qand R and P

and R

41. Among following statements, true
statement are-

(a)

(b)

Oxidation 1s always
accompanied by reduction.
Oxidising agent has tendency
to lose electrons

SO, acts as oxidising agent as
well as reducing agent
Fluorine 1s the strongest
reducing agent

(a) and (b)

{(a) and (¢)

(b) and (d)

{a) and (d)

40. @ gaT Uiy i EEE et p, Q
S R & HeA Siiel T ¢

Q

P

4
r

A2 TR SRl O STTerahay ToheT o He
i

o N = p

PTH Q

QU R

PTH R

PTS Q, QUH R, 7T PUF R, & H&7
TH BT

41. 7 AT & 95, 9o HI B-

(a)

(b)

(c)

(d)
A.
B.
C.
D.

TR RTIT o [T T o ST
BT e

SRR H ST AT #hr
T e g

SO, STTERATRITER = T T
ST I I LT B

AR Teh TaTel ST ¢
(a) T (b)
(a) T (c)
(b) T (d)
(a) T (d)
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42. Among following reactions, the 42. = AT o 7, G*I:g:ﬁal-luﬂe-l
irreversible reaction is- ATTeRAT B
A. 3Fe+4H-,0 — Fe 0, + 4H,

A. 3Fe+4H,0 — Fe,0, +4H,
C. AgNOj;+ NaCl - AgCl +NaNO; C. AgNO,+NaCl - AgCl +NaNO,
2
D2 gty R D. H,+1, > 2HI
43. From Li to F in second period, there 43. T ofEd 5 Lil F deh a3 JHTLEE 8-
would be a decrease 1n- A g
A. Atomic mass ‘
B. Atomic radii i ]
C. Tonization enthalpy C. 2 QLR
D. Electronegativity D. %@[mu tHeht
44. Which of the following oxides are M. T R AFEES TG 87
amphoteric? A BeO
A. BeO
B. MgO
B. MgO
C. Al,Oq
C. Al,O4 o
D. CO
D. CO

SPACE FOR ROUGH WORK / 7% &Ta & ferar @me

20462-XNY-ZVV-ENT-M2 20 38 SetA



45. Consider following 1soelectronic
species:

K*,8% 01 ,Ca™

Decreasing order of 1onic radn 1s-
A Cat KT S0F 5 87

B, 158> RS>

L SPwer SR S0

D. gtscats8t -0

46. The compounds used in Solvay’s 46.
process of Washing Soda are-
A. Na,SO,
B. NaCl
C. NH;
D. CaCO,

45. [ gegeider TS aT e e

i o o

SR 5T T 52T S -

A: Ca?tsR a0l 387

B. cIr > >K* >

C. 8 >Cr >K* >Ca®

D. xtsca¥t=8% >0

i o ST & TTed T 5 ahiT O FER
T ST BT B-

A. Na,S0,

B. NaCl

C. NH,

D. CaCO,

SPACE FOR ROUGH WORK / & &Ta & forer @me
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47. Match List - T with List - I and select 47. gt - 1 e - W YA R A e

correct answer using following codes:

(a) Alcohol

List—1

List —I1

(Compound) (Example)

(I} Propanal

(b) Aldehyde (I1) Trichloro (a)
methane (b)
(c) Ketone (IIT}) Propanol (c)
(d) Haloalkane (IV) Pentene d)
(e) Alkene (V) Butanone
A. a-1, b-III, ¢-1I1, d-V, e-IV (<)
B. alIL bIL I, d-IV, e-V e
C. a-L, b-IL, c-IIL, d-1V, e-V B,
D. aIL b-L c-V, d-II, e-IV G
D.

& FETIET U U ST = I

e —1 T —11
(QULED] (FTETm)
Uwhigd (1) ST

TfeSerse () ZEFn e
S (111) Tio=Ter
BElT@RT  (IV) T
Teh | (V) =AM

a-1, b-III, ¢-II, d-V, e-IV

a-111, b-I1, ¢c-1, d-1V, e-V

a-1, b-11. c-111, d-1V, e-¥V

a-IMT, b-1, ¢-V, d-II, e-TV

48. The formula of a compound is A, Bs, 48. WWWI@’ A,Bs B, ATUTBH

the number of electrons in the valence

orbits of A and B respectively are-

T el § AT SelagHl ol ST ©-

A 6T 3
A, band 3 .
B. 5and?2 B S
C. Sand6 C.5&6
D. 2and3 D. 2753
49. Which of the following is a 49. T I U QAT AT IhAT 8-
combination reaction?
A TehTST
A Light 2HCL, >Hyg) oy
2HCIy, Hy(g) +Clyg,
MgO + H,0 — Mg(OH),
B. MgO+H-0 — Mg(OH),
) : n+FeSO,; — ZnSO, + Fe
Zn+FeS0O,; — 7ZnSO, + Fe
D. HCI+ NaOH — NaCl+H-0

HCI+ NaOH — NaCl+H,0

20462-XNY-ZVV-ENT-M2
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50. Correct order of increasing first 50. gy SR U T T el daal s

1onization enthalpy 1s- g
A. CKN<O<Be A. CKN<O<Be
B. Be <C<O<N B. Be<C<O<N
C. Be<N<O<C C. Be<N<O<C
D. N<C<0 < Be D. N<C<0<Be
31. Covalency is favoured by- 51. gegFieishdr & o difad 8-
A. A smaller cation A. ThH Bl T

B. A large amion | CHEE U

C. A large charge on cation

B

C. T gA1aT W Ied 9
D. A smaller charge on anion
D

. UgR SO T T S77E9T
52. The correct order of decreasing 52. oricadh Yahld T Hel HATHT 8-

metallic character 1s- )

A. C1>Si>Al>Mg> Na
A. Cl1>S8i>Al>Mg>Na ;

B. Na>Mg> Al>S8i>(Cl
B. Na>Mg>Al>Si>(Cl .

C. Na>Al>Mg>Cl> Si
C. Na>Al>Mg>Cl> Si

D. Al>Mg>Na>Si>Cl
D. Al>Mg>Na>Si>Cl

53. 50 ml of 0.1 N HCI is mixed with 50 53. 50 ml 0.IN HCIF 50 ml., 0.1 N KOH

ml of (.1 N KOH solution, the pH of %W%Wﬁf\ﬁﬁww%, BreET®r
the solution will be- pH .
A0

A0
B. 2

B. 2
. 7

C. 7
D. 9

D. 9

SPACE FOR ROUGH WORK / & &Ta & ferar ome
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54. The value of oxidation state of oxygen 54. dueETsE o SRS sl STERITeh 0T HE]

in peroxide 1s- T BIAT 2
A. -1 i
B. -2

B. -2
C. +2
D. zero G4l

D. 7T

55. Which metal is used for inter 55. @iewvad G &l ST F S & T
connection of the cells in the solar WWWW%@TW%
panel?
TRl
A. Silicon i
B. Silver B. Fet
C. Copper C. &
D. Zinc D. &F
56. Producer gas is a mixture of following 56. ST =T o T feRwhr e -

E*‘SES;:D - (a) CO (by CO,
g b -
@ o], g (©) NO, d N,
[C) NDE [d} Ng

. (a) AT (b)

A. (a) and (b) (a) 3T (d)
r d

A
B. (a) and (d) &

C. (a), (b) and (c) C. (a), (b) 3 (c)
D. (a), (b) and (d) D. (a), (b) T (d)

SPACE FOR ROUGH WORK / & &Ta & o @me
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57.

58.

59.

Natural oxygen 1s mixture of
following 1sotopes.

(a) '°0 ) "o
A. Only (a)

B. (a) and (b)

C. (a) and (c)

D. (a), (b} and (c)

() O

The ore from which both iron and
copper can be obtained-

A. Cuprite
B. Chalcocite
C. Bornite

D. Chalcopyrite

Which of the following 1s a covalent
hydride?
(a) H,O

(¢) NHj

(b) SiH,
(d) NaH
A. (a) and (b)

B. (b) and (c¢)

C. (a), (b) and (c)

D. (a), (b) and (d)

57.

58.

59.

ek oieh A TERITSH T STSH 2T 2hT [T
grdr &-

@ %0

A. &Fd (a)
B. (a) 3 (b)

@) 70 © 0

C. (a) 3T (c)
D. (a), (b) AT (c)

TE AR TS el U T ST U
TR ST TRl -

A. FIUE

B. ATAHAEE

C. arE

D. AR

T o T geETe BI3EsE i 87
(a) H,0 (b) SiH,
(c) NH} (d) NaH
A. (a) 3R (b)

B. (b) 3T (c)

C. (a), (b) ¥ (c)

D. (a). (b) 3T (d)
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60. Match the alloys of Column — I with

61.

their constituents in Column - I1.
Column -1 Column -11
(Ih Al+Ni+Co

(a) Bronze

(b) Nichrome (II) Cu+Z7n
(c) Alnico (IIT) Ni+Cr
(d) Brass (IV) Cu+8Sn

A, a1l b-IIL, -1, d-IV
B. a-1V, b-IIL, c-1, d-IT
C. a-1V, b-1, ¢-III, d-11
D. a-1V, b-I1, ¢-II1, d-1

Identify ores of iron in the list given
below.

(a) Hematite
(c) Siderite

A. (a) and (b) only
B. (a) and (c¢) only
C. (a), (b) and (c)
D. (a), (c) and (d)

(b) Limonite
(d) Rhodite

60. TerH - 1 o oy argil &l shied - &

2, B e O ]
ek Hedhi o THaTi-

T -1 T - 11
(a) AT (I)  Al+Ni+Co
(b) TSR (1) Cu+Zn
(c) Al (1) Ni+Cr
(d) drder (IV) Cu+Sn
A. a-Il, b-111, ¢-1, d-1IV
B. a-IV, b-III, ¢-1, d-11
C. a-IV, b-1, c-III, d-11
D. a-IV, b-II, ¢-I11, d-I

61. == s =T e 27 i e -

(a) eSS
(c) Frzmse

A

B
G,
D

(b) Tt
(d) T=TEE

. ele (a) 3T (b)

. A (a) AR (c)

(a). (b) ¥R (c)

. (a), (c) 3T (d)
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62. Assertion (A) : In nuclear fission large 62. FT (A) T CRCECER ﬁ&igﬂ et
amount of energy released. I Bt 2|
Reason (R) : In nuclear fission a FITT (R) : Tifrs e TR

nuclear 1s broken 1nto parts. :
1 e 2 STl
A. Both Assertion (A) and Reason 1

(R) are true and Reason (R) 1s A. FET (A) T HAT (R) =47 98T 8 AT
correct explanation of Assertion I (R), T2 (A) =T TET =TET 2
(A).

B. T (A) 3T HAT (R) =HT 8T & 37T

B. Both Assertion (A) and Reason (®). (A)Fr T s

(R) are true but Reason (R) is not
correct explanation of Assertion gl

(A). C. T (A) WEl 8, Tohg 10T (R) Terd |
C. Assertion (A) is true but Reason . -
(R) is false. D. T (A) eI &, T e (R) WEl €|

D. Assertion (A) is false but Reason
(R) 1s true.
63. Name the gases mainly present in 63. @ﬁqﬁ‘g@rwﬁwﬁwﬁ@rww
cooking gas. LD
(a) Methane {(b) Propane (a) T (b) T

(¢) Butane (d) Propene (c) E}?:F (d) ST
A. (a) and (b) ;

B. (a), (b) and (c) A. (a) ST (b)
C. (b) and (c) B. (a). (b) ¥ (c)
D. (a), (c) and (d) C. (b) 3T (c)

D. (a). (c) ¥ (d)

SPACE FOR ROUGH WORK / & &Ta & ferar @me

20462-XNY-ZVV-ENT-M2 27 38 SetA



64. The correct decreasing order of carbon

65,

67.

percentage 1n given coal 1s-
(a) Anthracite

(b) Meta-anthracite

(c) Semi-anthracite

A. (b) >(a) > (c)
B. (a) >{c)>(b)
C. (c)>(a)>(b)
D. (c) > (b)>(a)

The largest alkane ever found in
petroleum is-

A. CgHisg

B. CeoHin

C. Cygo Hapa

D. CyggHayg

Which gas 1s the major component of
biogas?

A. CNG

B. Methane

C. Hydrogen

D. LPG

Particulates are added to the
atmosphere by-

A. Industrial Process

B. Combustion of fuels

C. Photosynthesis
D

. Agriculture burning

64.

66.

67.

e RPE RN EACE R hE G AR F R
& 2-

(a) TRETsE

(b) Her-remarse

(c) Urfremarse

A. (b)>(a)> ()

B. (a) > (c) > (b)

C. (c)>(a)>(b)

D. (c) > (b) > (a)

« USRI 5 37aT Teh UTH Hell S1ST Ugeh ©-

CogHsg
Ceo Hix
Cioo Hapa
Ciog Hag
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68. Among following statements False
Statements are-

(a)
(b)

(c)

(d)

(e)
Al
B.
C.
D.

pH of rain water 1s 1.2

The use of chemistry to
prevent pollution is called as
green chemistry.

Wastes decomposed by
microorganism are called non-
degradable pollutant.

Troposphere is the lowest
zone of atmosphere.

Pesticides increase soil pollution.

(a) and (b)
(b) and (¢)
(a) and (c)
(d) and (e)

69. Minimum percentage of the gas in dry
atmosphere by volume 1s-

A.

B
C.
D

Oxygen

. Argon

Nitrogen

. Carbon dioxide

68. T ol qwe e §-

(a)
(b)

(c)
(d)

(e)

A
B
Ca
D

T ST T pH 1.2 B

TENUT Rl Tehel 3 Ferh ST 3T
F T M T T 2|
e St g 27T o ey
il Al FEd 2|

ATIHUSE o TTH & b
BT gl

IR TURATI T Ty g fes
T B

. (a) T (b)
. ()™ (c)
(a) T (¢)
- (d) T (e)

69. ¥ IS ﬁ‘&ne-m-ﬂ-j:lwﬁ?ri?—ﬂﬁ
=T wfeerd -

A.
B.
.
D.

CIEEIEE
ST

TGS

e SIS
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70. Match List - T with List - IT and select
the correct answer using following
codes:

List - 1
(a) Noise
(b) Plastic
{c) Nitrogen dioxides
(d) Fluorosis
(e) PAN
List - 11
(I)  Primary pollutant
(IT) Bone disease
(IIT) Photochemical oxidant
(IV) Non-biodegradable
(V) Physical pollutant
A. a-V,b-IV, ¢-1, d-1I, e-III
B. a-1V, b-V, c-II, d-III, e-1
C. a-V.b-IV. c-III, d-11, e-1
D

. a-l, b-III, ¢-V. d-1V, e-11

71. The gases which are responsible for
acid rain?

A. Carbon monoxide
B. Hydrocarbon

C. Oxides of nitrogen
D. Oxides of sulphur

70. gt - 1R ET - 1 T R e

I T WEMEAT U FET I I i
il
(a) FIT
(b) TETEZH
(c) T32Io SIS
(d) wEATE
(e) PAN
11
() Srafte 9o
() AR IT
(1IT) TTRIST TET ek ST Theh
WAEEECER
R LEERECED
A. a-V, b-IV, ¢-I, d-IT, e-II1
B. a-IV, b-V, ¢-II, d-II1, e-1
C. a-V, b-IV, c-IIL, d-1I, e-1
D. a-I, b-TII, ¢-V, d-1V, e-II

T1. TS AT F9T o Terd et -

A.

B
8
D

e AT S

. BTSSiRIET

1521 o TS S

. To9Ls TS
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72.

73.

74.

75.

Correct order of green house factor 1s-
A. CECl, =04 > N,0=C0,
B. CO, >N,0 =0, >CECl,
C. 03 >N,0=>C0, >CECl,
D. N,O >CO, >CFCl, >0,

Biosphere includes -
A. Hydrosphere only
B. Lithosphere only
C. Awmosphere only
D. All of the above

Percentage of freshwater in the
hydrosphere 1s-

A. 2.5%
B. 25%
C. 30%
D. 6.5%

The result of ozone-hole 1s-

A. Acid rain

B. UV radiations reach to earth
C. Global warming

D. Water pollution

12,

T3

74.

15,

o1 ST el ohT WeT o ©-

A. CKCl, >0; >N,0>C0,
B. CO, >N,0>0,>CECl,
C. 03 =N,0=C0, =CECl,
D. N,O=C0O; =CECl, =04,
AATEREL H BT -

A. T BTESEHIE

B. e Tkt
C. FadaPHIEA
D. I T

R R A A

A. ST

B. T2 0 qaTHT e i TE o
C. Telae arHT

D. SiefHeH0r
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Mathematics

76. The surds %-.E and ;ﬁ in

ascending order are-

A. -ilr-d_l f‘jﬁ and -JE
B. ﬁ,% and fjﬁ
C. 6,34 and 2

D. None of these

77. The value of
(243)013 x (243)07
(7 }(}.25 » (49}{}.{}?5 e (343)(}.2
15-
A 1
B.

3
5

s 3

-
D. None of these

PART - 11

76.

Tl

ot

0l 6,42 Y4 FIT Rd gL HA

e
A

B
C
D

2

. 5. 46 viv 3
. VB.46 st a
. 46, ¥3 shc B
TR

(243)%13 (243207

[T)D.ES = [49}'[}.(}?5 m {343}{}.’_’

T HTT BIHTT-

A,
B.

SPACE FOR ROUGH WORK / & &Ta & e @me

20462-XNY-ZVV-ENT-M2

32

38 SetA



78. Match the following. 78. SIS STl

Question Answer BE} 3L

: | r T
(a) The value of (T) 5 (2a+2b) (2c+a) : ]
2(a—b)(2b+c) 03

EOR:IEACIRI)

J[Za+2h][2¢+a] )
- — 15
(b) FE x= 3+ 242, (I 1

2(a-b)(2Zb+c)
(b) If x=3+22,then (II) 1

104 at [I-LJ )
g ;
"
(©) IF 16" =64x4™™ (1) 2 BT
then value of n 1s (c) e 16™! = 4 x 47" (1m) 2
(d) The value of x (IV) 3 Al n =T 19 2T
satisfying the equation (d) TefiepaoT (IV) 3

/
X LgwDR = L2 4 R
32K gy =12

A, a1V, b-III, ¢-1. d-11 ;
T W L 1ol
B. El'w, b'I, C'H, d'III X q'?l—]:l-l—"l—m
C. a-IlI, b-II1, ¢-1V. d-1
] A. a-IV, b-I11, -1, d-11
D. None of these
B. a-IV. b-1. ¢-11. d-111
C. a-II. b-II1, -1V, d-1
D. ST HIETE
79. The sumof i—-2-3i+4 .. 7. gfri= 1 At i-2-3i+4
upto 100 terms, where i= abl Ak T 100 727 T JITEMT-
D. None of these D. —S;p}rﬁ ﬁ_ﬁtqﬁ
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80.

81.

82.

Arun, Biplav and Cantor enters in a

. . 1 . .
partnership. Arun invests e of capital
| : ] y | —
for = of the time, Biplav invests = of

the capital for % of the time and

Cantor the rest of the capital for the
whole time. Out of the total profit

<4600, their profit share in the
descending order 1s-

A. Biplav > Cantor > Arun
B. Cantor > Biplav > Arun
C. Arun > Biplav > Cantor
D

. None of these

In a mixture of 60 litres, the ratio of
milk and water is 2:1. If this ratio 1s to
be 1:2, then the quantity of water to be
added 1s-

A. 40 hitre
B. 60 litre
C. 80 litre
D

. None of these

Four times the son’s age 1s less than 3
times father’s age by 5. If the sum of
their ages 15 larger than 6 times the
difference of their ages by 6. The sum
of the digits of their ages 1s-

A. 21

B. 29
C. 35
D

. None of these

80. e, forvere U sheal Ueh HTSERT i €,

81.

82,

S AT AT é,w%éwa\aﬁﬁ
EEREEUIENERER I ;— T, 4

% % T 3 T FraeT e & G et

aTelT g3 ST <Rl 07 @ o ferdt e ahear
81 T A 46003 F T T a7 o B
A H -

A. T > heal > T8

B. &t > fawg > 3%y

C. &> o > gl

D. AT HIEIES

60 THTZT Freor & 8 71T T+t 7 27T
2:1 €177 T TIATA 1:2 HE & T T 7
AT TeherT STt 2t?

A. 40T

B. 607l

C. 80l

D. FTH U HIE T

SId o I R =R T, Trdr a6 20 o 3 T E
S FH 8| I ST ST T AT, Hehl A

o F= o 6 T H 6 AT &, Al 3]
STRIST % 7ep! o7 AT BT

A, 21
B. 29
. 35
D

. A Big e
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83

* If the equations 4x?-x-1=0 and
3% +(A+1)x+A—p = 0 have a root
common, then the values of Aand p
are given below.

Which of the following are true?
(I A=-3/4

Im A=0

(Iy p=0

(V) p=-3/4

A. (D) and (IV)

B. (I) and (III)

C. (II) and (IV)

D. (II) and (IIT)

Let a.b.ce Q" satisfying a >b >c for
the polynomial f(x)=(a+b- Ec]xz +
(b+c—-2a)yx+{c+a—2b)

Which of the following statements are
true?

(I} The mouth of the parabola

y=1[(x) opens upwards.

(IT) Both roots of the equation
f{x)=0 are rational.

(TIT) x-coordinate of vertex of the
graph 1s positive.

(IV) Product of the roots is always

negative.

Only (I) and (IT)

(I, (IT) and (IIT)

(I), (IT) and (IV)

None of these

cnwpr

84,

AT R 4x” —x —1= 0 3T

3x2+fl+p]x+l—p=0 EFH,EF‘:I@'W
g T A TT w o O e =3 2
FeITeiad 5 O A o 907 87

ay i ]
(I A=0
(TI) p=0
(IV) p=-3/4

A. (I) 3T V)
B. (1) 31T (1)
C. (1) 3T (IV)
D. (II) 3T (I11)

I a,b.ceQ’ T a>b>c EhAF?HEE,’

HLA B A SEUS £(x) =(a+b-2c)x” +
(b+c—2a)x+{c+a-2b)

& Torr FTaiad 5 8 I8 H2 T 7
() T y=1f(x) FTHF IHA =
T 2| e
(1) THTERT f(x) =0 o =1 e
TET
(IIT) TTF = 79 1 x-F=9ris
T 8
(IV) =T @t o1 UG §HeT
RO S|
A. I (1) 3T (1)
B. (I), (I) 3T (11T)
C. (I, (I1) T (AV)
D. FTH T H3TE

20462-XNY-ZVV-ENT-M2

SPACE FOR ROUGH WORK / & &Ta & ferar @me
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85. Read the following statements and

choose the correct answer:

: JE & +
Statement I : Tf cos? % is a root of the

equation x2+ax+b=0 . where
a,be Q, then ordered pair (a. b) 1s

)

Statement IT: If a+mb=0 and m 1s
irrational. then a=0and b=10.

A. Both Statement I and Statement 11
are true but Statement I1 15 not
correct explanation of Statement [

B. Both Statement I and Statement 11
are true and Statement 11 1s correct
explanation of Statement [

C. Statement II is true, Statement I is
false

D. None of these

o TN s ol 9@ ST a3t =

W};qﬁfmszg,
THIRIT X +ax+b=0, a.beQ H A
& T ST I (a, b) BT [—I-;—]
o 11 : A% a+mb =0 3T m TTEHT &
T a=07T b=0

A. BT R 1 7R R 11T e
T 11, 9 137 e T TISiRioT 78] §

B. =T [ 31 e 11 9el & 31T
2 11, T2 1 Rl HaT Tt g

C. FITIHE T, FuT 1A &

D. AT FIEAES

SPACE FOR ROUGH WORK / & &Ta & ferar @me
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86.

87.

If §1s the set of all real x such that

2x -1 ; w
———— 13 positive, then 5
] 2]
2XT +3xT+x

contains which of the following sets?

o (=)

A. (I) and (IT)

B. (I) and (IV)
C. (I) and (IIT)
D. (IT) and (I1I)

The value of

)yl
¥ ¥
gl

LK}+ ]} -1

D. None of these

86. AT s, x & =7 @t FrEatesh 947
qET § o T g

=
2x3+3x‘+x

T 919 gTHH 2 df 8 H H=fdAiad 5 o

I T == e 82

0 (-}
o (4
(111) [lg 3}

(3

A. (I) 31T (1)
(IT) 3T (IV)
(T) ST (1)
(I1) ST1T (111)

c N w

87. "

5 gl
yo ¥

(Ky+1]y?—l

T AT -

A, nyjz

B vt

o ¥

D. FH ¥ g

SPACE FOR ROUGH WORK / & &Ta & ferar @me
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Whose value is 3 7 feR &R AT 2.5 4
V2 V2

(I) sin45° (I) sin45°

(IT) cos 45° (IT) cos45°

(TIT) cosec 607 (IIT) cosec 607

(IV) tan 30° (IV) tan 30°

A. Only (D) A. FFA (1)

B. Only (II)
C. Only (I) and (II)
D. All (I), (IT), (IIT) and (IV)

B. & (1)
C. = (1) and (I1)
D. @ (1), (1), (1) T (IV)

89. Determine order of following 89. [T STeRr & e T fE T I,
information from which if tané= % T8 tan 0= E Bl Al sinB- cos® FHTA
7 Sa ;
then value of sin6.cos6 can be TohTeAT =17 Heh-
obtained- .
I sin AT cosE HTHHE p, b, h
(I  Obtain values of sin& and 0 gm e C:; Eoits
cos B from the relation in E BIRERY
p. b, h. (II)  sin®-cosO T T TH B A=
(IT) Value of sin8 cos8 will be (I1) sin® TFAT cos B & HHT &l
g {l;bm““fd' g sin 8 cos6H @]
(I1T) ‘muzi;‘:al_lsg:}e sin® and cos (V) S %q Fp. b, hTETTh
(IV) From the relationship of p. b, h BIRERY

of aright angled triangle find h.
(D) = (I — (II) — (IV)

A. (D) = (III) = (ID) = (IV)
A B. (I) - (IV) — (I) — (1)
B. (I) — (IV) — (I) — (1) C. (D) = V) = (1) - ()
C. () —» (V) — (II) = (D) D. (IV) = (I) — (IIT) — (II)
D. (IV) = (I) - (II) - (ID)

SPACE FOR ROUGH WORK / & &Ta & e @me
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90. (I+tan A)> —(1- tan A)* =7
(I) 4tanA
(I) 2sin2Asec” A
(TI) 2sin 2A +2sin2A - tan> A
(TV) 8cosec2A -sin°A
A. Only (I) and (II)
B. Only (I) and (III)
C. Only (II) and (T1I)
D. All (I). (1), (ITT) and (IV)

91. 5in10° cosl0° sin 20°-cos2(P . ———
sin 907 cos 90" =7
AL

B.

o
D.

92. ||1—sinh R
l+sin A

cos A

ol =
& &l-

cosec A

secA +tan A

S nNnwp

secA —lan A

92

91.

92,

(1+tanA)” —(1-tan A)> =7
(I) 4tnA

(I) 2sin2Asec’ A

(TIT) 2sin2A +2sin 2A - tan> A
(IV) 8cosec 2A-sin%A

A. T (1) T (IT)

B. e (1) 7T (1)

C. e (I1) T (I11)

D. T (1), (1), (1) T=T (IV)
sin 107 cos 107 sin 207 .cos 20F . — — —
sin90%. cos90°=7

A

B. 0
(ST |

D. &
"2

||1—.¢;ir1h_l,
l+sinA
A, cosA
B. cosec A

. secA4+tan A
D. secA—tanA

SPACE FOR ROUGH WORK / & &Ta & ferar @me
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93.

9.

95.

Measure of an angle 1s 50 grade. What
15 1ts measure in degree?

A. 50°

B. 45°

D. o0

. . T
Length of an arc subtending angle 5
at the centre of a circle of radius 4 cm
18-

(I) mem

(I) 4mem

(1) :;—Icm
(IV) :—Icm

A. Only (I)

B. Only (II)

C. Only (IIT)

D. Both (IIT) and (TV)

Shadow from sun of a 3 meter high
pole is J3 meter long. At that time

what is the angle of elevation of the
sun?

A 30°
B. 90°
C. 60°
D. 45°

93.

94.

95.

Ueh i UT T AT 50 T2 & SHahT 2737 5 71T
FTE?

A. 50°

B. 45°

D. 60"

4@??.%@31@’(%%%@%;@

AT LT T el =TT &l oS ©-
(1) o
(I1) 47 T,

(TIT) % o,

(IV) % o,

A, Fa (1)

B. e (1I)

C. &ad (1)

D. (1) 7= (IV) =47

3y e S T o aF U TS 43 Hiew

el & T THT Y AT I Bl fohe]
22

30°
90"
60°
45°

ocnw
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96. If (P<3A <90° and
sin3A =cos(10°-A), then A="7

A.
B.
C.
D.

30°
60°
2y

40

97. For the Assertion (A) and Reason (R)
below choose the correct alternative.

Assertion(A) : [ +tan” 6 = sec> 6

Reason (R) : sinZ B+ cos” 6=

A.

Both Assertion (A) and Reason
(R) are true and Reason (R) 15 the
correct explanation of Assertion

(A).

. Both Assertion (A) and Reason

(R) are true but Reason (R) is
NOT the correct explanation of
Assertion (A).

Assertion (A) 1s true but Reason
(R) 1s false.

. Assertion (A) is false but Reason

(R) is true.

96. 3= (P<3A <90° 7T
sin3A =cos(10°P-A), T A=7

A,
B. 60°
C.

D. 407

30°

25°

97. HTHFHIT (A) T HET (R) 3 ToIw T
EETERITI

AR (A) : 1+ tan® 6= sec” 6
IO (R) : sinZ6+cos=0=1
A. FET ATHFET (A) T HAT (R) T

& T LT (R), STTHERA (A) T W2
e |

AT ATHRHAT (A) THT AT (R) T
& T T (R), SR (A) T TS
TTHeRT e B

AR (A) TF € g AT (R)
TTAE

HATRIT (A) ST € T BT (R)
T 8l

SPACE FOR ROUGH WORK / & &Ta & forar 7me
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98.

100.

Arrange these in the decreasing order
of values.
(I) 75°

2"
(IT) [?]
() 1008
(IV) 54°
A, (D) = (1) = () — (IV)
B. (II) — (III) — (I) — (IV)
C. (III) - (I) — (IV) — (II)
D. (I) = (V) — III) — (II)
Find suitable matches of Column 1

with Column I1.

Column 1 Column IT

{Equations) {Solutions)
(I} sinx=0 (a) x=2nm
(I} cosx=0 (b) x=nn

(IIT) sinx =1 {c)x=(2n+l}§

(IV)cosx=1  (d) x=(4n+1)>

A. T-c. II-d, II-a, IV-b
B. I-b, II-c, ITI-d, IV-a
C. I-d, II-b, II-a, IV-c
D. I-a, II-b, I-c, IV-d

It the angle of a triangle are
x+15,3x—35 and 4x, then the triangle
18-

Equilateral

Isosceles

Acute angled

Right angled

°cn®wr

98.

100.

52 A1 & H2d shH H geird |
(T) 75°

o (3]

(1) 100%
(IV) 54°

A. () = (I) — (1) = (IV)
B. () - (1) — (I) = (IV)
C. (I = (I) —» (IV) = (1)
D. (I) = (IV) — (IIT) = (IT)

T 1 o T S 1 hT I et

a1 EEe b |
(TR (G
(I) sinx=0 (a) x=2nm
(IT) cosx=0 (b) x=mn

(I sinx=1 (¢) x= [zn+n§

(IV)cosx=1 (d) x=(4n+ l}%

A. T-c. II-d. IT-a, IV-b
B. I-b, II-c, II-d. TV-a
C. I-d, II-b, II-a, IV-c
D. I-a, II-b, Il-c, TV-d

e TR 10T x +15,3x — 35 7T 4x
CAGIEREES

A. GHETE

B. ¥HEaTE

=S

. PR

C
D. 9T

SPACE FOR ROUGH WORK / & &Ta & ferar 7me
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101.

A

4 =
- -

14

In the figure, AP and BQ are tangents
at points P and Q respectively. find

101.

A

i
-

14

fewme foard, AP T BQ#AW: fog P
TIT Q T T2 &, T y hT I -

value of y- A

A8 % 3

B. 6 B 6

C. 4 C.

D. None of these D. H Y HISTE
102. In two similar triangles, corresponding 102. 3 o9& :?‘Iijﬁ EARRIn 1 ¢ 3:2 ERRIL

sides are in the ratio 3 : 2. Find the I 2| ﬁWWWWWWI

ratio of corresponding medians. 5.3

A. 2:3 N .

B. 3:2 {B:' i

C. 4:9 = g ¥

D. <2

D. 3:47 VA

103. C 103.
B B
X X
70° 25 70°
A D A D

the value of x and y are- X 9T y HTHE &-

A x=45%y=75 A x=45y=75°

B. x=75%y=45 B, x=T75y=45

C. x=45°,y=45° C. x=45°, y=45°

D. None of these D. SAH Y ®ISTEN

SPACE FOR ROUGH WORK / 7% %14 % fog wmg
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104.

105.

106.

Find the area of a parallelogram, if
area 1s represented by x 2_ 4, the
length of side by x + 4, and the length
of the altitude to the side by x —3.

A, 8

B. 60

C. 64

D. 10

A rectangle ABCD, where A =(0,0),
B=(4,0),C =(4,2), D=(0,2),
undergoes the following
transformative-

(I) f(x.y)=(y.x)

(I)  f2(x, y)=(x+3y.y)

: X—V X+V
I fix,yv)=| —,—=|,
() f3(x.y [2 2}

The final figure 1s parallelogram, then
correct order of transformation is-

A. (1) — (III) — (II)

B. (I) — (II) — (III)

C. () — (II) — (I)

D. (III) — (I) — (II)

Two vertices of a triangle are

(4, —3) and (-2, 5). If the orthocentre

of a triangle 1s at (1, 2), then the third
vertex is-

A, (33,26}
B. (26, 33)
{5 133,20}
D. (26,535}

104.

105.

106.

FTHT T AR 1T Al [T, T =TT
T GG X~ — 4, Teh o ol s

X +4, Yo S we x -3 & e g
A 8

B. 60

C. 64

D. 10

Tah 37T ABCD, 5181 A = (0,0),

B =(4,0),C=(4.,2), D=(0,2) &, TCfF=T
7L foh T =T 8-

(H fxy)=(y.x)

() fHix.y)=(x+3v.y)

(111) fﬂx.yh[ﬂ,ﬂ}

7 i)

AT U5 U A O BT e,
TN ol Hal T -

A. (D = (1) = (1)

B. (I) —» (II) — (III)

C. (II) = {III) — (D)

D. (II) = (I) — (II)

T T A F (4, -3) T (-2, 5) B
A st ohT da e (1, 2) WE, @ e
S 8-

A. (33, 26)
B. (26,33)
C. (-33,-26)
D. (-26,-33)

SPACE FOR ROUGH WORK / 7% &Ta & ferar @me
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107.

108.

109.

Two circles of radius 6 cm each
intersect each other such that each

passes through the center of the other.

The length of the common chord is-
A. 23em

B. ﬁﬁcm

. Z\Ecm
D. §cm

20 L4

60°
AT kT D

the value of x and y in rhombus
ABCD-

A x=6v=10
B. x=20,y=203
C. x=5 =20

D x=9 yv=20

If we draw a triangle AABC inside a
circle (A, B, C are on the
circumference of a circle). Then area
of AABC 1s maximum when-

A. AB=BC= AC

B. AB=BC=AC

C. ZBAC=9%"

D. AABC 1s obtuse angle triangle

107. 6 T, B aTel 2 377 e 26l 5 @
icreee #hid § fob Tl S8l o e 4
BlehL TS 8| ST Sfia ol wras
ey,

108.

109.

o 0w pF

235,
63 T
2./2 T
8 T,

20 y

60°
AT kT D

TTETHT ABCD F x T y &7 A1 &-

A
B
C.
D

x=6,y=10
x=20,y=20.3
x=5 y=20
x=9 v=20

A AT T BT AABC W=
ST S (A, B, C T T T 7 E)|
AABC %7 &%e 3T g, Fre-

A,
B.
@
D. AABC U STl B &

AB=BC= AC
AB=BC=AC
ZBAC=90°

SPACE FOR ROUGH WORK / & &Ta & ferar 7me
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110.

111.

Match the following.
Column 1
(a) An equiangular parallelogram
(b) An equilateral parallelogram
(c) An equilateral and equiangular
parallelogram
Column II
() rhombus
(IT) square
(IIT) rectangle
A. a-1, b-I1, ¢-11
B. a-Il. b-1, ¢c-111
C. a-IIL b-I, c-11
D. a-III, b-1I, -1

(I) If two sides of a tringle are
congruent, the angles opposite
these sides are congruent.

(IT) An equiangular triangle 1s
equilateral.

Choose the correct statement.

A (I) only

B. (II) only

C. Both (I) and (IT)
D. Neither (I), nor (II)

e W A L S

110. = gHferd fhf)

il

(a) FAEHIOfT =T

(b) TG AT

(c) TN T GoFaTE ST
T 11

(D TG

(my =

(1) T

A. a-l, b-III, ¢-11

B,

111. (1)

a-11, b-1, c-II1

. a-II, b-1. c-11

a-II1. b-11, c-1
71 st oh =t o[ el e €,
Tt 35 G 3 R 0T T T TE |

() ST GHeRIT = e |
SHIERERC BN

A,

B
C.
D

e (1)
e (11)
(1) 7T (11) =47

. ATHL (D) AT (1)

SPACE FOR ROUGH WORK / & &Ta & ferar 7me
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112,

113.

114.

Ina
AABC, ZA:ZB:2C=2:4:3.then-

(I} Shortest side of the trangle 1s
BC.

(IT) Longest side of the triangle 1s
AB.

Select the correct statement.

A. Only (I)

B. Only (II)

C. Both (T) and (ITI)

D. Neither (I) nor (IT)

Two 1sosceles trangles have equal
vertical angles and their corresponding
sides are 3:5. What is the ratio of
their areas?

A. 3:5

B. 9:25

| S S

D. 1:4

In the given figure, find the value
of x, -

Gr+15° 40 oo

-

I3

30°
407
60°
45°

ocn=wpr

112. v BT AABC #

ZA:/B: /C=2:4:3 g 7t
() BrisT =i wew Biet 4o BC €
(1) BT T e =) T AB ¢
T S T

A. & (1)

B. e (II)

C. ()T (1) =HT

D. Tt (1), 9T & (11)

= YHTESTE YT o 9T h 07 GH € 2T

T ST 3: 5 H ) S &R
ST FTE?

A, 3:3
B. 9:25
G B2
D

1:4

. =T e, x = 51 377 i

(3x+ 15)° (x + 5)°

r 3

307
407
60"
45"

cnwe

SPACE FOR ROUGH WORK / 7% &Ta & ferar @me
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115.

116.

117.

118.

What 1s the co-ordinate of the point
dividing the line segment internally in
the ratio 3:1, where end points of the
line segments are (— 2, 2) and
(10.-6)?

A = L1

B. (2.3)

C. (7.-4)

D. None of these

AABC is atriangle having
BC=2AB. Bisect BC in D and BD in
E.If ZCAE=60°, then ZCAD =

A. 20°

307

45°

90"

o nw

In a AABC.O isits circumcentre and
ZBAC = 60°, then angle ZOBC is-
A, 30°

B. 40°

. 30

D. 90°

The angles of a triangle are in the ratio
3:5:7, then the triangle 1s-

Acute angled triangle

Obtuse angled triangle

Right angled triangle

CnNnwp

Equilateral triangle

115.

116.

117.

118.

WERGUS T 311 o ST H STl eh
TErTST il ATt fafeg o TesTieh o 8,
STET WS o ST Ty, (— 2, 2) T
(10,—6) &7

A (-1,1)

B. (2.3)

G G

D. FHE HIE T

Ps AABC § BC=2AB gI D, BC
I TT E, BD &1 Tg1Td el 21 71
ZCAE=60°, 8, @ ZCAD=

A, 200

B. 307

C. 45°

D. 90°

BT AABC H, O Witz § 7T
ZBAC =60° g, @& ZOBC 8-
A, 3P

B. 40°

C. 50¢

D. 90°

ol BT 0T 3:5:7 & AT HE,
CINEREE

A. I et

0 N W

SPACE FOR ROUGH WORK / & &Ta & e 7me
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119. na triangle-
(I)  The sum of two sides 1s
always more than third side.
(IT) The difference of two sides is
always less than third side.
Select the correct statement.

A. Only (I)

B. Only (II)

C. Both (I) and (II)
D. Neither (I) nor (IT)

120. Tf the points A (1,-1), B (5, 2) and
C(k.5) are collinear, then k equals-
A S

B. 4

s ¥

D. None of these

121. The sides of a triangle are 3 cm,

4 ¢m and 5 em. The area [.ina::m2 ] of

the triangle formed by joining mid
points of the triangle is-

A3
2

B. 1

5

C. 6

D. None of these

119. Wﬁ?ﬁﬁ

120.

121.

() = SSTTSAT ol 7 o el e
T ofTereR Bidt 2

(1) = =TT o7 ST Fea et oo
T FH g &l

o T &7 T )

A. FF (1)

B. e (II)

C. (1) (1) =47

D. T (1), AT (1D)

e fargd A (1,-1), B (5, 2) 7T
C(k.5) {6 &, af k sqa g

A5

B. 4

(o

D. T g

ek T T ST 3 WA, 4 ST T

5 QT 8| st & o[t & e ferget i
et 3 sy ATl B 35 e @
M-

A.

[ P

0
2 | —

4]
D. FHU RIS TR
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122.

123.

124,

The points (2, 2), (6, 3) and (4. 11) are
the vertices of-

A. an equilateral triangle

B. an isosceles triangle

C. a scalene triangle

D. aright angled triangle

The centroid of a mangle divides each
median 1n the ratio-

A 1:2

B. 2:1
£ 123
D. 3:]

From these whose areas will be equal?

(I Semicircle of radius R

(I) Circular sector of radius R and
central angle 90°

(IIT) Circular sector of radius R and
central angle 180°

(TV) Circle of radius R

A. Only (I) and (II)
B. Only (II) and (III)
C. Only (1) and (I1I)
D. Only (III) and (IV)

122,

123,

124,

&7 (2, 2), (6, 3) T (4, 11) AT, UF.
T ST o

. UHigaTg BT
BELLEIAEREET

. TR ST

et oI ol e, S el Wik HTeeh]
ol =T LI H [T ST kel 8-

A,

DN w»

= ok 7
P I

B.
C.
D

Lad

TTH O ok B el U 8 T 87

() R F7ar atefam

(1) TH=3T R 7T Sheai™ 0T 90° et
TAEIE

(TIT) TSI=3T R T sl hI07 18 0° TTeT
AT

(IV) RTF=mamarad

A. e (1) 79T (I1)

B. e (I1) 7T (110)

C. e (1) T (1)

D. e (1) T (1V)
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125,

126.

To determine area of a nght angled

triangular region determine the correct

sequence.

(I) Find length of sides forming
right angles.

(I1) Half of product of sides forming
right angle will be area.

(IIT) Determine sides forming right
angle.

(IV) Find product of both sides
forming right angle.

A, () = (1) = (AV) — (1)

B. (IV) — (II) = (I) — (III)

C. (I) = (II) — (III) — (IV)

D. (II) — (I) — (I) —» (IV)

For a house made of 4 meter long, 3

meter wide and 4 meter high walls

which of the following will be true?

(I Areaof roofis 1 2m?.

(I)  Area of surface is equal to sum
of areas of two walls of width.

(IIT) Sum of areas of walls of long
side is 32m”.

(TV) Areas of all walls are same.

A. Only (I)

B. Only (I) and (III)

C. Only (IT) and (IV)

D. Only (II)

125.

126.

e TR (TR &I il & e T

T & Ferw Wt oy Rafror i

(I) WA STl 2T et o
EFES ST |

(1) THEIOT ST STt efraTi &
U T SATHT &ahel B T|

(L) THRIOT ST ST AT, [T b

(IV) =TT THERIOT ST ST ST T
TURThE ST ]|

A, (I - D - AV) — (1)

B. (IV) — (I) — (I) — (III)

C. () = (1) — (1) - (IV)

D. (I) —» (III) — (I) = (IV)

A dfaT T, 3 el F1Er AT 4 Hiet =T

A & & T TT 578 O i T 27

() &F F SFRaT 1277 AT 2

() T8 T &R TS arel 2f
IECIEUE e T | e T e A

(I1T) =TS oiTet Toamit 3 earwet s =i
3277 3

(TV) T FeaTil T e het a7 ¢

A, ad (1)

B. e (I) T (111)

C. A (11) TT (IV)

D. & (II)
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127. What will be capacity of a cylindrical 127. ush S@TehR Jehr T arfdr a8t 7

tank if its radius is 7 cm and depth is FehT BT 7 Ot Tur TeUs 24 ©HT g
24 cm? e
. 1BdeH
A. 1846 cubic cm =
B. 154 cubiccm B. 1547 GHT
C. 3696 cubic cm C. 3696 9T THT
D. 3424 cubic cm D. 2484 57 4HY
128. width of a rectangle is 5 cm and 128. Ueh 3T hl = 2 é 5 UHT TUT Sk [9ah0f

length of its diagonal 1s 13 cm. What & TS 13 UHT 2| 3 37T &l 2Fhe
will be area of that rectangle? e
A. 12cm?

A 128
B. 144cm?

B. 144 3’
C. 60cm? .

; C. eodHr

D. 120em? 5

D. 1209+t

SPACE FOR ROUGH WORK / & &Ta & ferar @me
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129. Direction : For Assertion (A) and
Reason (R) choose the correct
alternative.

Assertion (A) : Total surface area of a

cube of side ais 6a”.

Reason (R) : Volume of a cube of side

aisa’,

A. Assertion (A) and Reason (R) both
are true and Reason (R) 1s the
correct explanation of Assertion
(A).

B. Assertion (A) and Reason (R) both
are true but Reason (R) is not the

correct explanation of Assertion
(A).

C. Assertion (A)is true but Reason
(R) 15 false.

D. Assertion (A)is false but Reason
(R) 1s true.

129. 79y : = T3 73 o7 TR (A) T S

(R) & 170 WET e =]
SATHFRT (A) : 9T a STl 5 & Frqof 79
T &TH 6a’ BT B

T (R) : 4T a Te 5 T A a”
GGG
A. ST (A) T L (R) THT T

& U ST (R), ARFAT (A) HTU
ST 2|

B. TH&R2 (A) T4 FRAT (R) THT T
& T AT (R), SRR (A) 3T TET
AT e 2

C. ATHER (A) TET 8 TG HRT (R)
TEA T

D. TR (A) FHTH E T BT (R)
T 2l

SPACE FOR ROUGH WORK / & &Ta & forar @me
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130. Match the following.

131.

Column —1

(Shape)
(I)  Cylinder (radius r, height h)
(IT) Cone (radius r, height h)
(IIT) Cube (each side a)
(IV) Sphere (radius r)

Column —II

{Volume of the shape)

1 &
4) —=nrh
(a) 3

(b) a
c) = r’h
k.. 3
(d) E'm
Choose correct answers from
following.
A, T-c, II-a, II-d, IV-b
B. I-a, II-¢, II-b, IV-d
C. I-c, II-a, III-b, IV-d
D. I-a, ll-d, lII-b, IV-¢

What will be length of arc of a circle
of radius 7cm. Which subtend angle of
90" at the centre of that circle?

A. 44 cm
B. 32 cm
C. 2m cm
D

. 11 em

130.

131.

ot L S Y

Er=REICIEREAE
priat g |
(TR
() o (54T r, 58 h)
(I) %% (=T r, SE1E h)
(II) = (TCF 4T a)
(IV) e (F=T r)
T — 11
(AT 3T TI)

A. T-c, H-a, TI-d, TV-b

B. I-a, Il-c, IlI-b, TV-d

C. I-c, Il-a, ITI-b, TV-d

D. I-a, TI-d, TIT-b, TV-c

7 THT AT STl I o 3 =T T A
AT BT 11 3 T oh oz TC 90° T I 0T
AT LT 87

A. 444t
B. 32"
C. 2n OHt
D. 114

SPACE FOR ROUGH WORK / 7% &Ta & ferar @me
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132.

133.

134.

Which of these have six faces?
(1) Cuboid

(IT)  Square

(IITy  Cube

(IV) Prism

A. Only (I) and (IV)

B. Only (I) and (III)

C. Only (IT) and (IV)

D. Only (I), (IIT) and (IV)

Each side of an equilateral triangle 1s
12 ¢m. Then its area will be-

A. 36\5 cm”
B. 122 em’
C. 12«,@ cm?
D. 182 em®

Arrange following in increasing order

of area-

(I) A rectangle having length 15 cm
and diagonal of length 17 cm.

(IT) An equilateral angle having each
side 8 cm and height 4\5{,111_

(TIT) A circle of radius 7 cm.

(IV) Perimeter of arectangle 1s 48 cm.

Ratio of its length and breadth
B

A, (D) = (1) — () — (IV)

B. (II) — (IV) — (1) — (1)

C. V) — (III) — (I) — (1)

D. (II) — (II) — (IV) — ()

132,

133.

134.

Y T fohrieh &: Ta8 Bid 87
(=™
(my 7
(1) =T
(1v) fas=

A. e (1) T (V)

B. e (I) 79T (11I)

C. e (11) 7T (1V)

D. e (1), (II) T (IV)

e GHETg st sht oo (T 12 T 2

GEREERNRSERTGICIRIE

A 363 T B. 1242 o7
C. R2Y3ad’ D. 182 &

TG &l &A% o dgd HF 5 aesd|
()  Uah ST o @ras 15 Ot T
Terhut &7 TS 17 T R

(1) Tk G st o o ot
8 T T3 443 T

(IT) 5T 7 Tt T Th I 2

(IV) Tk 777 = qiifEf 48 Tt 2|
SEeh] TS T =123 o ST
5:3 8

A. () = (II) = (D) = (IV)

B. (III) — (IV) = (I) — (1)

C. (IV) = (IIT) — (I) — (II)

D. (II) — (II) = (IV) = (I)
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20462-XNY-ZVV-ENT-M2

38 SetA



135. Ratio of length, breadth and height of 135, s 74 T MLGHSF, rﬁﬁl 3 AT S ol

a cuboidis 3:2:1 and 1ts volume 1s ST 3:2: 1 &, T, THRT AT 1296
1296 cubic cm. Then its length is- B Ot 2| e SeeT e B
A. 6cm
A. 6THT
B. 18 cm
C. 36 cm B. 18T
D. 216 cm C. 364
D. 21644t
136. Two unbiased coins tossed together. 136. 5t AT ek Teh T JaTet S & | 7
Then the event of getting both heads T 3 HT 2T T geAT -
upwzuﬂs 15- () T HT
(I)  Simple event AR
(I) Composite event (I1) . e
(ITI) Equally likely event (IIT) FHTTE 52
(IV) Mutually exclusive event (TV) T ST ST
A. Only (I) A, FFE (1)
B. Only (II) and (111
IAca, 1D B. et (11) T (I11)
C. Only (II), (IIT) and (IV)
D. Only (I) and (IV) C. FF (1), (1) T (V)
D. e (1) 7T (IV)

SPACE FOR ROUGH WORK / & &Ta & ferar @me
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137. Match suitable answer of Column I
with Column 1L

(D

(1)

Column -1
n+1

th term of a series of odd

terms n arranged in ascending
order

The sum total of all n terms of
a series divided by n

(IIT) The set of all possible events

of a random experiment

(IV) The value of a variate having

(a)
(b)
(c)
(d)
A.

B
C.
D

maximum frequency
Column — 11
Mean
Median
Mode
Sample space
I-b, H-¢, MI-d, IV-a

. I-¢, II-b, II-a, IV-d

I-b, IT-a, HI-d. IV-¢

. T-a. 1I-b, II-c, IV-d

137. e 1o U&7 &7 1L U I I A

i

()

(1)

(1I1) ATEr=aed T & a+f T9T
T T G B 8

A -1

SR 9 O 39 LT oy Tar

n =T 3oft ":1 afTe

I e TR E e
F n W AT & WHTH BT 8

(IV) T TE AN Toehl AR

(b)
(c)
(d)

cnwe

TS &
T 11
HTET
HTRART

dgelsh

el g
I-b, -¢, HI-d. TV-a
I-¢. II-b, IT-a, IV-d
I-b. II-a. II-d. TV-¢
I-a, II-b. II-c, TV-d
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138.

139.

Determine suitable order.
(I)  aseries of 7 terms
(I1) to find median of the series
T+1
7

(IV) to arrange the series 1n
ascending or descending order

A, (II) — (III) — (IV) = (1)
B. (I} — (IV) = (I) — (1I)
C. (IV) = (II) — (1) — (I)
D. (I) = (IV) — (IIl) — (II)

(TIT) to find =4th term

A frequency curve having more than
two maximas, is called-

A. skewed curve

B. a bimodal frequency curve

C. a multinomial frequency curve
D

. symmetric curve

138. I % T oY)
(I) 77ar & Uk Suft
(1) it T ATTeahT ITH AT

T+1
(1) ——= 4 T 7& Jra HAT
(1V) Zoft st 2Tt A7 sEdEt w5

A
B
C

D

HATAT
(1) = () = (IV) = (I)
. (M) = (IV) = (@) — (1)
. (IV) = (1) = (1) — ()
(D = AV) = (D) — (1)

139. w o ok o = o 21fre 2= a,
g gl 8-

A

B
C
D

. faw =

. TE-HATH AR T
. qulﬂﬂ—;ﬁ
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140. For non-negative values let A, G and

141.

142.

H be respectively arithmetic mean,

geometric mean and harmonic mean.

Assertion (A): A=zG and G=zH

Reason (R): A>G>H

A. Assertion (A) and Reason (R) both
are true but Reason (R) 15 not the

correct explanation of assertion
(A).

B. Assertion (A) and Reason (R) both
are true and Reason (R) is the

correct explanation of assertion
(A).

C. Assertion (A)1s true but Reason
(R) 1s not always true.

D. Assertion is false but Reason (R)
15 always true.

Which of the following 1s not meaning

of statistics in singular sense?

A. Presentation of numerical data

B. Observation collected with a
definite purpose

C. Analysis of numerical data

D. Interpretation of numerical data

In an asymmetric distribution mean 1s

12 and mode 1s 3. then their median
will be-

A. 15
9
8

o nw

140.

141.

142,

ATT SR UL AT & [T A, G HTH

AT THTL HTEA, TOTH HTES 31T

TS AT B

HATFIT (A): A>2G T G=H

FAT(R): A>G=>H

A. ST (A) T 0T (R) THT T
& T I (R) SATHEFRA (A) T UET
TP T8 2

B. TR (A) TUT FAT (R) SHI O
g ST FHTIT (R) 2T (A) T e
Ty BT T2 B

C. FVERT (A) U € Tl 1T (R)
Tod UeT T8 g

D. ¥R (A) 3T € T4 HIT (R)
TeT UT 2|

FT=T o T Sl Teha=rT & H T &

aref 7t 27

A. iR ST T S ey

B. U @I 3o3F o AT T = TehaT 7T
Blap)

C. ATTereh S2T T Tt
D. 37T ST &1 =3

Uehy STHIH sled 5 AT 12 T Sgeih 3
&, T SR HTTeTRT BT

A 15

.9

B
C. 8
D. 4
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143.

144.

145.

146.

If a curve 1s drawn by free hand from
vertices of a frequency curve, then we
get-

(I)  afrequency polygon

(I) afrequency curve

(IIT) an ogive

(IV) ahistogram

A. (I) and (IT) both
B. (III) and (IV) both
C. Only Il

D. Only IV

In ---- number system, the value of
base 1s 2.

A. Binary

B. Decimal

C. Octal

D. Hexadecimal

Which units form the Central
Processing Unit?

A. Control Unit

B. Arthmetic Logic Unit
C. Both (A) and (B)

D. Memory Unit

(11001)
decimal number.
A, 24

B. 25
£
D

, 1s equivalent to -------

Fa

el A
3 2

143.

144.

145.

146.

AT AT RT S o 3 3 Bl T q
B Sk Wi ST, a1 85 WTH R 8-

A, (1) TT (11) ZHT
B. (IIT) &= (IV) =47
C. Faa 1l
D. a1V

----- TR TUTeAT B ST T H1 2 2|

o nwp

I AT TR gt I HE STt
27

A. T serd

B. SR ek 5ohTS

C. (A) 3T (B) THT

D. A A4

(11001), ~--— ZETHETS G & FT &

A.

e

—_— d D
a3 LA

B.
c.
D

[S]
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147. A computer is often referred to as a
data processor.

Al
B. False
G
D

. None of the above

148. How many rows will a truth table for

True

Both A& B

an n-variable expression have?

A.

149. Data processing consists of following

B
C.
D

activities-

Al
B. Calculating the Data
£

D. All of above

Capturing Input Data

Managing Output Result

147. STl gL el THHL s §7 5 ST
T 2|

A, e

B. T

C. A®TBINAT

D. T® Y ¥ s e

148. =7 A=A & T H o AT o
T TR BITT?

149. Zor TR T Ferdra T marEreE T S

A
B
C. TT3Y O T Fafe
D. ST T
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150. If n(A)=10, n(B) =20, ¢=5in the
given Venn Diagram, Find a and b.

LD

a=10andb=15
a=15andb=10
a=35andb=15
a=15andb=35

CnNnwp

150. sty maq smaE g
n(A) =10, n(B)=20,c =5 & A 3T
B W@i+i|

SN w »

J

A B

a=103TTb=15
a=153TTb=10
a=353Tb=15
a=153Tb=5
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20462-XNY-ZVV-ENT-M2

38 SetA



IAT A thd BT HTHAT : 03T

38 | SET A

HATUaT 3 : 150

Time for making answers: 03 Hours Maxirnm Marks : 150

T :
1. AT URARTH 150 Tore | Teheh WoT 01 AHh w1 T |
AT I F HAT AHATH T |
2. W TR OM R FEIIE (ATENITE) W Ak it |
3. U HeAThT T 1 fehar s=a |
4. TRET AT & BADA T ATANT 2 Ul TIAT3 HIT T UANT T |
5. OMR ISIE (FTHIIE) BT U= ohd T VH T eh 1§ AH AT T
AT TTHE 7 e AT AT I Wi Ar freae anfe ug W e
e Tt g T E AT |
wTTare w7/ farrd St o AR T |
aur | fEEwr Wt aEEr | Aw
I (EEIEY 75 75
I T 7 75
Note :
1. This question booklet contains 150 guestion.
Each question carries 01 mark. All questions are compulsory.
2. Indicate your answers on the OMR Answer-5Sheet provided.
3. No negative marking will be done.
4. Useof any type of calculator or log table and mobile phone
is prohibited.
5. While using OMR Answer-Sheet care should be taken so that

the Answer-Sheet does not get torn or spoiled due to folds or wrinkles.

Details of Paris/Subjects :

Part Particular No. of Questions | Marks
Science 75 75
II Mathematics 75 75
20462-XNY-ZVV-ENT-M2 64
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